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PHẦN TRẮC NGHIỆM (4 điểm)
Part I: Select the best option to fill in each blank of the following sentences below. 
……………. certain the back of this van is …………………. to hold the large box?
A. Are you/ wide enough
B. Do you/ wide enough / 

C. Have you/ enough wide 
D. Had you/ enough width
ANSWER: A

A ………………… Chihuahua dog may only weigh ……………. four kilograms. 
A. fully grown/ as little as
B. grown fully/ as fewer as  
C. fully grown/ as equal as  
D. grown fully/ as less as
ANSWER: A

Before you begin searching the Internet, ask ………….. the question: "What kind of job am I ……………. to do?
A. yourself/ currently suited
B. you/ suited currently  
C. yourself/ suited currently 
D. you/ currently suited 
ANSWER: A

………………… will be on the subject of ………………… and air pollution.
A. Today's lecture/ environmental problems 
B. Today lecture/ environmental problems  
C. Today lecture / problems environmental  
D. Today's lecture/ problems environmental 
ANSWER: A

I was ……………. with the movie. I had expected it to be……………..
A. disappointed/ better  
B. disappointing/ better  
C. disappoint/ goodder 
D. disappoints/ well 
ANSWER: A

…………… many economists, international specialization in the production of some goods, such as cars and computers, increases world efficiency and output, making all nations ………………..
A. According to/ richer 
B. Thanks to/ rich 
C. Based on/ more rich  
D. Regardless of/ richest
ANSWER: A

Wages and salaries account for ……………three fourths of the total national income generated in the United States annually. 
A. nearly 
B. near 
C. nearer
D. nearest
ANSWER: A

The field cricket is ……………. to crops and vegetation and does most of its harmful work at night.
A. quite injured  
B. injured quite 
C. quite injury
D. injury quite
ANSWER: A

Advocacy for child war victims, children in hazardous work, ………………children and those …………… exploited or handicapped has attracted the attention and commitment of legislators all over the world.
A. abused/ variously
B. abusing/ variously
C. abused/ various
D. abusing/ various
ANSWER: A

Your writing is terrible. I can ……………. read it.
A. hardly 
B. easily
C. recently 
D. regularly
ANSWER: A

A: Why is she still perspiring? She ……………. too hot. I’ve taken her jumper off. 
B: In that case, she …………. a fever. You’d better take her temperature.
A. can’t be / must have 
B. needn’t be / ought to have
C. shouldn’t be / have to have
D. wouldn’t be / can have
ANSWER: A

George …………….. better in the tennis tournament than I thought he ………… because he got through to the finals.
A. must have played / could
B. had better play / should
C. ought to play / can
D. will have played / ought to
ANSWER: A

…………. you do me a favor, please? …………….. you ask Mrs. Green if the interview room is available?
A. Could / Would
B. Shall / Might
C. Might / May
D. Will / Will
ANSWER: A

I was going to write my essay about the British nuclear tests in the Australian Desert, but I …………… the topic when I ..................... much information about them.
A. had to change / couldn’t find
B. used to change / might not find
C. must have changed / may not have found
D. might have changed / can’t find
ANSWER: A

A: ……………… we drive to Sultan Ahmet in our new car? 
B: Well, I ……………… take the ferry to avoid the traffic.
A. Shall / would sooner
B. Can / may sooner
C. Would / might sooner
D. May / must sooner
ANSWER: A

You …………….. your own canoe in order to join the canoe club. They cost a lot of money. You ………………. mine whenever you want to canoe.
A. needn’t buy / can borrow
B. might not buy / would borrow
C. can’t buy / might borrow
D. mustn’t buy / may borrowed
ANSWER: A

Course books in Applied Economics …………….. frequently since this area focuses on the actual policies which …………… in recent years.
A. need to be revised / have been implemented
B. must revise / are implemented
C. need revising / have implemented
D. should have been revised / were implemented
ANSWER: A

The major villains’ emotions and needs ……………….. but ……………. to be expressed.
A. don't disappear / aren’t allowed
B. aren’t disappeared / haven’t been allowed
C. won’t be disappeared / may not be allowed
D. won’t be disappeared / won’t have allowed
ANSWER: A

The ideal way to contain a potential influenza pandemic would be to vaccinate people before they ………………… to a virus strain that ………………. from person to person.
A. are exposed / has transmitted
B. had been exposed / is transmitted
C. were exposed / transmits
D. exposed / is transmitted
ANSWER: A

Everybody thinks Olympic athletes who ………………. drugs to enhance their performance ……………. from further competition.
A. use / should be banned
B. are used / have banned
C. are using / should have banned
D. have been used / are banned
ANSWER: A

The so-called language broadcasts, which …………… for many years, …………….. by the state broadcaster in June 2004 as a part of reforms intended to meet EU criteria on minorities.
A. had been banned / were introduced
B. banning / were introduced
C. have banned / introduced
D. have been banned / were introducing
ANSWER: A

The film, which …………….. an ordinary Anatolian member, ………….. to be a strong candidate for the previous competition.
A. depicts / was believed
B. depicted / has believed
C. has been depicted / was believed
D. is depicted / was believed
ANSWER: A

………………, the tourists didn’t want to go to the town where the riots had taken place just a few weeks before.
A. Understandably
B. Approximately
C. Extremely
D. Reluctantly
ANSWER: A

We took a tour of the most amazing Chateau during our holiday, which we discovered ………………… by accident.
A. purely
B. deliberately
C. systematically
D. wisely
ANSWER: A

When I moved into the house, the grease on the oven was ……………… it took me a whole morning to remove it.
A. so thick that
B. thick enough
C. too thick
D. such thick
ANSWER: A

Farmer Parkinson’s dog is …………… to scare any intruder.
A. ferocious enough
B. such ferocious
C. so ferocious that
D. ferociously
ANSWER: A

I wish my cousin would type his letters to me as his handwriting is ……………. legible.
A. barely
B. slightly
C. bitterly
D. merely
ANSWER: A

The decision to promote him was based ……………. on his sales record, and neither his management skills nor his organizational ability was taken into account.
A. solely
B. intensely
C. barely
D. highly
ANSWER: A

20 miles ……………….too far and two days ………………….enough time.
A. was - wasn’t
B. were - weren’t
C. was - weren’t
D. were - wasn’t
ANSWER: A

……………Lord of the Flies the name of the book we had to read last year?
A. Was 
B. Were 
C. Did
D. Does
ANSWER: A

My new pair of jeans………………pockets on the side of the legs.
A. has 
B. is 
C. have
D. are
ANSWER: A

What they’re discussing in the meeting …………….interest me.
A. doesn’t 
B. don’t 
C. are
D. is
ANSWER: A

Never……………to listen to so many boring people!
A. have I had
B. I have had 
C. am I have
D. has I had
ANSWER: A

I watched Dances with Wolves, which……………. about dancing at all.
A. wasn’t
B. weren’t 
C. didn’t
D. not
ANSWER: A

The farmer refused to ………………. to walk across his field.
A. give us permission
B. give permission us
C. give permission on us
D. give us to permission
ANSWER: A

Heartbreak is a feeling of great sadness …………………. something bad has happened such as the end of a love affair or the loss of a life.
A. since
B. if
C. when
D. and
ANSWER: A

She ………….. seriously injured, ………….. it really frightened her.
A. wasn’t - but
B. isn’t - and
C. didn’t - for
D. doesn’t - yet
ANSWER: A

We have an extra room in our apartment. ……………… stay with us?
A. Why don’t you
B. Why do you
C. Are you
D. Did you
ANSWER: A

I wrote to some people, but ………….. of them has replied yet.
A. none
B. not
C. no
D. nothing
ANSWER: A

The janitor will say, “Don’t smoke in here?”, ………………..?
A. won’t he
B. will he
C. will they
D. won’t they
ANSWER: A

PHẦN TỰ LUẬN (6 điểm)
Part 2: Use NO MORE THAN 10 WORDS to complete each sentence below in such a way that it is as similar as possible in meaning to the sentence above it.
1. Alcohol is bad for you and so are cigarettes. (Both) 
______________________________________________________.

Đáp án Câu 1. (0.6 mark): Both alcohol and cigarettes are bad for you. 

2. I'm always nervous when I travel by air. (makes)
______________________________________________________.

Đáp án Câu 2. (0.6 mark): Travelling by air always makes me (feel) nervous. 

3. There is nobody in the bookstore right now. (hardly)
______________________________________________________.

Đáp án Câu 3. (0.6 mark): There is hardly anybody in the bookstore right now. 

4. People expect that she is going to leave hospital in a few days. (expected to)
______________________________________________________.

Đáp án Câu 4. (0.6 mark): She is expected to be going to leave hospital in a few days. 

5. We have written fifty per cent of the report already. (Half of)
______________________________________________________.

Đáp án Câu 5. (0.6 mark): Half of the report has been written already.

6. She was ordered by the judge to pay $50 for speeding. (fined)
______________________________________________________.

Đáp án Câu 6. (0.6 mark): The judge fined her $50 for speeding.

7. At no time did anyone warn us about polluted water. (No one)
______________________________________________________.

Đáp án Câu 7. (0.6 mark): No one warned us at any time about polluted water.

8. The room wasn’t only cold, it was also very damp. (Not only)
______________________________________________________.

Đáp án Câu 8. (0.6 mark): Not only was the room cold, (but) it was also very damp.

9. People were telling me what to do all the time and I didn’t enjoy it. (I didn’t) 
______________________________________________________.

Đáp án Câu 9. (0.6 mark): I didn’t enjoy being told what to do all the time.

10. There aren’t a lot of students who are willing to help others. (Not many)
______________________________________________________.

[bookmark: _Hlk95307981]Đáp án Câu 10. (0.6 mark): Not many students are willing to help others.
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